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W=0.56 m2
N=0.28 m2

0.19 m2
0.49 m2

W

N

059
\ GZ'9
a 11°59T
o 0L's
L) 6€'G9T
) 95°'G9T
/i
I 08'99T YR %
“, a8
|
68'G9T GlC
U891 [oez
9/°69T
¥6'G9T 000
| SL'S9T 59T
I 68'G9T o
I 05°€
i 78697
N €897 Gl'E
i 6£'G9T
/ 09'69T
/ g5'g
29'G9T 0T'9
Gl
[N}
N .
= A
> w w
3 S| 2 o
_ i 2| 2
m ] L =
= =z O
) _._D.T a w
£ | B 8
=
ov'L
m Amofolp sed 6¢'G9T 0T'.
,/ 529
hi L2597
/) T2'59T
\x G9°'G9T sev
‘h 19697 STy
|
‘ 9/°69T SLe
v9'S9T oo
69'G9T
18'99T 000
| 9°G9T 0S'T
,,,/, 9,'59T|S9'G9T[ g, 7
LA Gl'E
SN 04°69T
N 02'99T
w 12'59T
| 0SS
£259T cog
06'9
o
S ) L
£ 8 £ 2
= WO
N I o = o
o o x — D
3 o %} 8
o L [11] ad
= = =z (O]
© _.DE. [a)] E
2 ) B 8
=

1+225.75

km 2+044.75

1+301.20

km 2+120.20

099
\ . SZ'9
AN $8'S9T [ og'g
b 9v'GoT
y 2,591
£ 26591 s
NmmmH 06°E
09'€
10°99T /2
68'G9T| SZ'C
06'G9T
90997 000
68'9T 057
W 10°99T GlT
,,,, 18'S9T[ og'E
N §96°G9T G/'E
N\
L 97’591
T
L TL'S9T
i
| gs'S
SLS9T oT'9
002
-8
p= el g
o w [T}
< = =
0 e g O
g AR
N~ 1] L |
E g = = = 0
8 3t > 8 3
=2
06'9
W,, 15°99T o979
) SZ'9
//
1 .
\ 1zsor VT
i’
A/ 0y
g £/°69T =
“: 69'G9T
|
¢8'99T GlC
L9°99T | og'z
AR
18'G9T 000
0L'S9T5og
. GL'g
i ¢899 5, -go1
A oT'e
[ .
NI 9/'G91 5)€
N 9£°G9T
1
\, 12591
i
/ gs's
LESIT gog
002
p= 8| « M
5 S5 =
o = m ul
© i _
_ g ¥ = S
N . =1 o n N
e @ g w | 9
S 5 w m z 2
(=} g L g p
n e =
= I3 B B 8

km 1+327.85

km 2+146.85

1+253.05

km 2+072.05

0L9 | |
GZ'9
, 'GOT .
//, £6'99 59'G
I 85591
\/
W GL'S9T
| ;\ TT°991 GZ'v
“‘ \\
Vi 00°€
02'991 | 80991 ¢,
1991
mN.mw@Ho %2 000
W ¢0'99T 052
¥ 02'99T Sz
) SL°€
L ¥1°99T | oy
90991 ~egg
Voo
L 85'G9T
I
\ 08'G9T
| gs'g
| /8'G9T| G8'9
S6'9
~ -8
S g <
2 W
m o i} i m
e = = =z (O]
g 3 % =
g 5 = Nl ®| 5
= =z =
0.9
: 02691 ¢°
W 08'S
L) €€'G9T
x\x 0t'S9T
i
! :
| 29T oo
“
88°G9T GlC
2L99T| o7z
9/'591
€6'99T 000
99T e
,,, 88'G9T <z
'y 9/°69T| OV'E
N ¢8'G9T YRS
N
N\ .
! ge'gor |09 991
!
! gs's
05'59T
Gl'S
GT'L
o L
2 s ¢ g
~ © —
§ S8 w
S 3 9 g O
' o 2] %
Ty s Y w3
o e a a8 m
S o = wy oy o
9= ¥ RB| 6
= £ =




